VSDP Semi-Monthly Salary is $1500, Worker’s Comp Daily Indemnity Rate is $100; 10 day
Example F pay period: 9 days at 80% Income Replacement, employee chose to supplement 9 days
Option 1 with leave, but was LWOP for 1 day.

1. Calculate the amount of Worker’s Comp Benefits due the employee.

Cred Comp - $1500 a. $100 multiplied by 9 = $900

b. Use Special Pay 002 (WRK COMP) to pay $900 on HUEO1.

2. Calculate the VSDP Benefits due the employee (no change in method).

Worker’s a. $1500 divided by 10 working days in pay period = $150 per day
gggngggg 9 days multiplied by $150 per day = $1350 multiplied by 80% = $1080
$1080 - $900 (Worker’s Comp) = $180 VSDP/WC Benefits Due
b. Use Special Pay 062 (WCSDPBEN) to pay $180 on HUEOL.

3. Calculate the Regular Pay Due for the Leave Supplement.

a. $150 per day multiplied by 9 = $1350 multiplied by 20% = $270
b. Key $270 on HUAO3 to pay the employee Regular Pay.

4, Calculate the amount of the dock for LWOP.

a. $150 per day multiplied by 1 = $150

b. Since LWOP does not reduce the Creditable Compensation base, enter
$150 on HUEOL1 (indicators 000, adjustment indicator is blank) using
Special Pay 081 (CALC RET).

5. No retirement deduction overrides are necessary since all of the Creditable
Compensation is accounted for and this item will not appear on Report 869.



